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2. Describe what happens to the graph of a function when you make each
change to its equation.

a) Replace x with 2x and y with 2y.

b) Replace x with 2, then y with 2y, then x with x — 6.

¢) Replace x with %.\‘, y with =3y, then y with y — 4.

d) Replace x with %.\' and y with %y, then x with x + 1 and y with y + 2.
3. Describe what happens to the equation of a function when you make each

change to its graph.

a) Compress horizontally by a factor of % and vertically by a factor of %

b) Compress horizontally by a factor of 1 then translate 3 units right.

¢) Expand horizontally by a factor of 2, then translate 3 units left.

d) Compress horizontally by a factor of L. then translate 5 units right.
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8. This calculator screen shows the graphs of
vy=4/xandy = +4x+38.
a) Use the equations. Explain how the
second graph is related to the first.

b) Sketch graphs to verify your answer
in part a.
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The graph of the function f(x) = /4 — (x — 2)2

is shown. Use this function in exercises 9 and 10.

9. a) Sketch the image of f(x) after:
i) a horizontal compression by a factor of %
i) a vertical expansion by a factor of 3
iii) both transformations in parts i and ii have been applied

b) Write the equations of the three images in part a.

10. a) Sketch the image of f(x) after:
i) a horizontal expansion by a factor of 2
i) a horizontal translation 3 units left
iii) the expansion in part i, then the translation in part ii
iv) the translation in part ii, then the expansion in part i

b) Write the equations of the four images in part a.
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11. The calculator screen shows the graphs
of these two functions:
1 3
= dy= :
Y=g, ey Q=32 +1
a) Use the equations. Explain how the

second graph is related to the first.

b) Sketch graphs to verify your answer
in part a.
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